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Booklet does not have any unprinted or torn or missing pages or items, etc. If any

of the above defects is found, get it replaced by a Complete Question Booklet of the
available series.

2. Write clearly the Question Booklet Version Code A, B, C, D or E in the appropriate
space provided for the purpose, in the OMR Answer Sheet.

3. Enter the name of the Subject, Reg. No., Question Booklet version code and
affix Signature on the OMR sheet. As the answer sheets are designed to suit the

Optical Mark Reader (OMR) system, special care should be taken to fill those items
accurately.

4. This Question Booklet contains 55 questions, Part — A contains 40 questions of one mark
each. Part — B contains 15 questions of two marks each. All questions must be
attempted. Each question contains four answers, among them one correct answer
should be selected and shade the corresponding option in the OMR sheet.

5. All the answers should be marked only on the OMR sheet provided and only with a
black or blue ink ball point pen. If more than one circle is shaded / wrongly shaded /
half shaded for a given question no marks will be awarded.

6. Questions are in both English and Kannada. If any confusion arises in the Kannada
version, please refer to the English version of the questions.

7. Immediately after the final bell indicating the closure of the examination, stop making
any further markings in the OMR Answer Sheet. Be seated till the OMR Answer Sheet
is collected. After handing over the OMR Answer Sheet to the Invigilator you may
leave the examination hall.
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PART - A
WR-Q

Note : Answer all the questions. Each question carries one mark. (1x40=40)
TR SR BINERY GUZoR. B3 TyF 1 1070 908,

( P

The microscopes which help to observe nano-materials are

a) scanning tunneling microscope b) atomic force microscope
c) electron microscope d) both a) and b)
9, dpe BRONTIY QEBFEO FHHOD BREOW AT, TIFFN
a) A, ,QON WQYON* AT TTF T b) 53008 Fpexts ART T3
c) @dﬁ?}f ART T3FT d) a) @) b) HTER
The first Indian satellite launched through Indian made launch vehicle in the

year 1980

a) Aryabhata b) Bhaskara c) Apple d) Rohini
19803¢ IRFTE_ 1T0TZTY SCIRTIT LVTORER WOBRE WARVTF YVTTHBOTRT
IRTO PoBseoD VTNT

a) 030FIts b) ¢3xT C) T d) dre&esd
part of Indian population directly depends on agriculture.
1rd 1 th 1 3 th
a) 3 b) i ) > d) 2
PONTR, TITe mﬁﬁoaﬂd SeTIoN g ko Boed waﬂooz:@caﬁa%d’.
1 LY 1 3
% 3 °) 4 © 2 )7
Green Revolution is in the field of
a) Agriculture b) Milk c¢) Fish d) Wool
TATITD, 08 IBBT, i@@, BE,
a) 3 b) oen C) Qe d) v
GMO stands for #
a) Genetically Modified Organism b) Genetically Motivational Organism
c) Grand Money Order d) None of the above
GMO 2058
a) xR IRRF T SRFITS? ~b) %Qe3BO FnetdBe3Tr B ITIS
c) Mo, 05° 200 BTET? d) 0O ARJTe e,
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6. The process of repeated formation of species is called

a) Evolution b) Speciation c) Variation d) Mutation

T, PeTNEL PYIToRSF SRR CRPYRA ,3,030030=) QI TIT.

a) 5% b) ILelrezsen C) F=oee, d) evzFzo=3eS
7. Of the following select the adversity of antibiotics

a) Allergy b) Diarrhoea

c) Self prescription d) All of the above

QRNTY, T, 82, DTINY OBTOTITOTTY SO

a) woBF b) & cdoed03R

€) A 373 d) 0eds 2P
8. Soaps are

a) Sodium or potassium salts with fatty acids
b) Contains petroleum products only

c) They contain fatty acids only

d) None

ARLRTOND
a) AReRODO0 9T FPEIDXACI0 ©TED Tomw 3RYS EEFI), Beodds
b) tim,edodo LT TWINIRY &3, oL
C) BRYF G[UTI), B[R, TBeodT
d) cdnRmx)Te e
9. Nuclear fusion means
a) Splitting of large atom into one or more smaller ones
b) Fusion of two or more lighter atoms into larger ones
c) Both a) and b)
d) None
9600 TOC3RERT 3,03 QTS
a) d:acga 5630 20T 9T ﬁzs% :dsar\a EIEONFIN AT
b) 2 &m0 03808 Te3), BMOTHT e9£20Me Foodpewsotoss TRT, &e0ned RBODE
c) a) 0=V b) 2TER
d) cnnEe 8e
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10. Which of the following reaction occurs on its own in nature ?
a) Nuclear fusion
b) Nuclear fusion and Nuclear fission
¢) Nuclear fission
d) Moderator
TINIRNTY, CBRJYTO JRMF T, WLTBTN V0L 8,030 2
a) 9 Roodeews
b) 5630 Tocdpens Tonn @ LTY

C) &0 AT
d) SeEderot
11. Each computer connected to the internet must be
a) be an IBM PC b) have a unique IP address
c) be internet compatible d) have a modem connection
ROTBF BRODT T,8 Neagoddo3, ) S, TpoLTLIE.
a) IBM PCo3), b) cd0Res* IP R,
C) 03T OO TOTDEIWS Y d) SecExF S ROTFFTTY
12. Internet works on
a) Packet switching b) Circuit switching
c) Browser d) URL
e90BTF VTR S SE0E F0ed FOT TREIT.
a) w8 R &S o7 b) mgm,Fes AL one
C) 3°,3T* d) o0.&80¢.0ek.
13. HTML stands for
a) Hyper Text Making Links b) Higher Textural Marking of Links
c) Hyper Text Markup Language d) None
HTML 20md
a) ZTo* e oeson® OoF° b) o0t ¢35 W0 Seseon' e Doz’

C) R,T0° &36° R[NF T O, O - d) odRRTR ©e
o ~ed ) o
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14. Buying and selling goods over the internet is called
a) Hyper marketing b) Cyber selling
C) e-commerce d) All of the above
903TFOR0T :ddsmeés% ira@;%w SNeCe) mm@dﬁﬁ Q0T FFCI0I €38,
a) BT IeFreson” b) % wo* ZQone
C) e-word d) 0T 20
15. Which of the below is the non-renewable energy resource ?
a) Solar b) Coal
¢) Hydro electricity d) Wind power
FINTZYNYS) 3R ROTIRY T8 00T, YTIFEFORNMOP DY, 2
a) X0 b) 5T
C) O DNk d) Soo3o 33
16. Anatomy is the study of
a) Structure of an animal or plant b) Life on earth and in space
c) Structure of earth d) None
oon CuiTozoF, 20oTd S O, 0T IREIT0.
a) T,63 9w R, 1Y O3S b) e Tone WO, 593 23633
C) 2IR00dD T3S d) TR e
17. Heliocentric Theory was given by
a) Nicolas Copernicus b) Galileo
¢) Oldham 5 d) Einstein
ARODF Feod,3 AT 0BT QBT
a) JBReOT BRCTTITT b) idddee
C) Lo & - d) 2R &
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18.

19.

20.

=1,

22

Birth place of Renaissance is

a) ltaly b) America c) India d) Britan
PVY (T[T BI :g#

a) aed b) &z80c03 C) T2 d) 2,8°
The first airplane was flown in the year

a) 1901 b) 1902 c) 1903 d) 1904
RATO DBRT ToTIEITOT DRF

a) 1901 b) 1902 c) 1903 d) 1904
The other name for antibiotics is

a) Vaccine b) Antibacterial

c) Antiviral d) Antacid

T8 20BN FOZR 0T T

a) @,35° b) ;05398 cooder

C) & 0T d) ot

Which of the following causes least pollution when burnt ?

a) Petrol b) Diesel

c) Coal d) Natural gas

VRNTY, CIRYTO LVOATN BIF, SROT, B, LVOLOBPBITT ?

a) Jedn ec® b) &exe*

c) Eé*qzm d) F3INFE v

Fuel formed under the earth’s surface by the decomposition of organic matter is
a) Organic fuel b) Biogas fuel

c) Fossil fuel i d) Underground fuel

TCFTF) PRV IFPRNATY, HIDHT TR 2eP308000s

—pd, S —
T T T —
U"E:ﬁ&i\,avudw.

a) RO QTN b) 0% ©AY YT
C) TR BT d) PR IHPRBAS VTS
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23. Transgenic plants are
a) native to one country
b) contain foreign genes in their cells
c) are used to produced disease and pest resistance crops
d) both b) and c)
432, 7% 2¥R08° NG@NSL 20033
a) RT3ed NN
b) X BReanTR, QTed WOTTLNTRY BRODTIZE
C) TS Tone 3et3 QTREGT WINTIY wqﬁﬁ@@mwvﬁmmgc&
d) b) =020 ¢) HTTER

24. Who released a special stamp entitled “White Revolution” in July 1968 ?

a) Mahatma Gandhi b) Jawaharlal Nehru

c) Indira Gandhi d) Mothilal Nehru

1968 20 FE) ‘363 0TREVT” 0w Ser F0b LoR3oDTY B380 QWM
SRETIT.

a) RTTY MY b) XeBT T I

C) 20QT? MoY d) Reedene® ITTD |

25. To join the internet, the computer has to be connected to a

a) internet architecture board b) internet society
c) internet service provider d) all of the above
03wor ©F Bedwd NEFedI0E, T, TPNT OIRYTE, BOTEFRLIERO ?
a) VOWTTeT WIF T O° ol b) oL B el
C) QOT LT TNFA® TP,H,BO° . d) BocdT QP
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26. The process of hypothesis testing has

a) 6 steps b) 9 steps c) 8 steps d) 7 steps

T, FFOFOD TOeFob ,8,03030 TONTTY, wHRORT.

a) 6 b) 9 c) 8 d)7
27. Traditional Indian herbal remedies are

a) Neem b) Turmeric c) Tulsi d) All of the above

ADOT, TIWOWT ¢Jo03T AT, WUDOT TWOTHITNED

a) Je) b) das c) ¥R d) 00T 2P
28. Which of the following is not basic ages of metals in the Ancient World ?

a) Copper age b) Bronze age c) Iron age d) Silver age

BIBOBRZNTE, CIRRYTD 32,236 &,T0WE TR RTINS ?

a) 0, odon b) g0 odon C) Fwes cdon d) 23 o3on
29. C.V. Raman won Noble Prize for

a) Physics b) Chemistry c) Botany d) Zoology

2.2, TIET TR 38,09, Jnerder 3000, TRTW.

a) ﬁémz\; b) SRechTTOR, C) AR,TOT, d) 8503,
30. “Origin of species” was written by

a) Oparin b) Lamarck c) Darwin d) Copernicus

0T ST 2 e, WBTHM | .

a) LTo0T* b) =T C) TRFR* d) ZRTCRATT
31. Chernobyl Nuclear accident occurred in ea.riy morning of

a) 26t April 1986 b) 26t March 1986

¢) 26! June 1987 d) 26t July 1987

TOTD 00 BIRF WS TTRIED BRTo3 STWOWD.
a) 263¢ d,* 1986 b) 263¢ s 1986
C) 263¢ =RF 1987 .d) 263 208 1987
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32. Russia launched the first satellite into space in 1957 named

a) Sputnik Il b) V2 c¢) Sputnik | d) None
essoRalela) 19570¢), 10,5038 PUTIREING ST YT, BT TAW
a) Bz |l b) V2 c) LT | d) oSRRTR B,
33. The first Indian satellite launched by Soviet Union on 19t April in
1975.
a) Rohini b) Appolo
c) Chandrayana d) Aryabhata
2TDTIT AT YU, BT BReR03T 0RRNODFROT 193¢ D&,
1975 SoT> LVBINFBCIIVC.
a) SrRe&es b) esdpedoe
c) 2303,03R3 d) e3030F 3
34. Who is regarded as father of genetics ?
a) Mendel b) Bateson
c) Hugo de beris d) Darwin
3OTAT QTOROT 3TV ?
a) ¥0oBS b) Wee*s’
c) IR, e B atera d) mFT
35. Expand DNA
a) Deoxyribo Nyclic Acid b) De ribo Nuclic Acid
c) Deoxy Nuclic Acid d) None
DNA&R), 950A.
a) @i dne IRIF S, b) & Gine BREF T,
C) Rede IRIF TR, ’ d) c3RRTR BQ,
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36.

37.

38.

39.

40.

Who discovered human blood groups ?

a) James Watson b) Alexander Fleming

c) Landsteiner d) Einstein

BRTBS TBT MOOPNTRY, FoB&LRTIT C3RT1 ?

a) e T, W b) esdmomc® Fooon®

C) B0 R R0k d) &%,

Magnitude scale for earthquake

a) Ritchter b) Cornell c) Meitner d) Heisenberg
PRBOTT $633,3030TY, WRTFT BRRERE FTI

a) o8o’ b) &3 C) <oeL3ot d) IS wn'e
Transistor was invented by

a) McCarty b) Shockley c) Borlaug d) Kapitze
3,20 BT OSD SUTWT TRRTH.

a) ooLsr b) g C) WnreT TNt d) Tt
The antibiotic penicillin was obtained from

a) Staphylococcus b) Penicillium notatum

c) Streptococcus d) All of the above

T,8 08 BVIF'T W

a) AP dnessx’ b) B2O0DT* e

c) %ﬁéﬂmemﬁ:&f d) 20O 203e

The social science study

a) Material World 2 b) Mathematics

c) People and Societyr d) Experimentation

TRTRIT N IR B, BT, 0DT SRBTT.

a) <R3 T,Tol b) ness

c) =3 B ez d) o 0dRens
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Note : Answer all questions. Each question carries 2 marks. (2x15=30)
B 1 AR T IRON eUZ0R. B3T3 2 €903.
41. Ancient mathematics is from
a) 30000 BCE upto 2000 BCE b) 800 BCE upto 1500 CE
c) 2000 BCE upto 800 d) 1400 CE upto 15000 CE
09,2368 NEFBR) _
a) 30000 BCE c200z 2000 BCE =3n b) 800 BCE ooz 1500 CE =3
c) 2000 BCE o0 800 el d) 1400 CE oot 15000 CE =38R
42. E = mc? is an equation to prove
a) Photoelectric effect b) Radio activity
c) Brownian motion d) Theory of relativity
E = mc? Q020w 3 DTR&TLD ATT ART, .
a) WIB AW TOFTHORD b) Be@odee B850
c) 23°,Q0NT* WO d) BedT A0
43. Measures to raise agricultural productivity
a) Proper education b) Package programme
c) Crop protection d) All of the above
LA QU TINTTY BUPRLO 3RTOBROT 50
a) Rocdnw &TLd b) 9, Bets FO0RFT,
c) Weod TT® d) SO QRP
44. Cultivation of grapes is also called as
a) Horticulture " b) Sericulture
c) Grapiculture d) Viticulture
9,8, DO ACT eI v) 20T FB030TT.
a) TLFIQD b) o8
c) 7,e80° ' d) eBOT?
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45.

46.

47.

Match the correct pair.

A. Indian nuclear programme
B. Indian mansoon model

C. Green revolution

D. Agronomist

a) A-1, B-2, C-3, D-4

c) A-2, B-1, C-4, D-3

TROAR W3CWO.

P00 TIRIPeRd FOCIFE, 0
PIOTE0T W0OTRTY TRTO
. DA F,08

SR, T

a) A-1,B-2, C-3, D-4

c) A-2, B-1, C-4, D-3

Which one is found only in males ?
a) X chromosome
c) 2 X chromosome

Do
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1. Vasanth Gowarikar
2. Homi J. Bhabha

3. S.K. Datta

4. M.S. Swaminathan
b) A-4, B-3, C-2, D-1
d) A-2, B-4, C-3, D-1

1. TIX0S® M=oTo*

2. TR . Porm

3. O%°.8. T

4, D0.0%°. EDIANRIaT)
b) A-4, B-3, C-2, D-1
d) A-2, B-4, C-3, D-1

b) Y chromosome
d) None

BVRNSS. SR Fesse QYTORCE, FOBOWTIT 9

a) X SIe302d
C) 2 X Jear3od

PSLV means

a) Polar Satellite Launch Vehicle
b) Public Service Launch Vehicle
¢) Polar Service Load Vehicle

d) None

PSLV eozd 9

a) Tpeeno’ Re3 3 epoes® Sz
b) TYF* BOFT® enow Beoser

C) TPERT® BAFT* BRer® Pioger
d) cRRTe @y

b) Y Sear302)
d) cRFoe e,
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48. The first structure of DNA was determined in by
a) 1953 by James Watson b) 1935 by Landsteiner
c) 1953 by Einstein d) 1935 by Planck
DNA 03 82330303, 09, 3250 RET AGFOITTO.
a) 1953 8, e T, EFRT b) 1935 B&, &R, 0T RFTT’
c) 1953 89, 2R, & d) 1935 S& 0T
49. The chemical used in manufacturing soaps which has high risk of causing
cancer
a) Trethanolamine b) PEG-6A and Sodium PCA
c) Propyiene glycol d) All of the above
DT T TIORY, 298 030orO 03P TTORIBROT T,ET LUOLTOTOR TGS
Q3 ?
a) 3,3 Cavioy b) PEG-6A &2 e PCA
c) Tp,HT ﬁmﬁaef d) S0edT YRR
50. The word science COmes from meaning
a) Latin, language b) Latin, information
c) Greek, knowledge d) Latin, knowledge
3,030 20w TRT DROR) 30 OB :
a) Uaﬁwas‘,zpaﬁ b) &, EAODI-R)
c) N6, RS d) oo,u, WP
51. Rediscovery of rational civilization exemplified by
a) Greece b) Rome
c) Both a) and b) d) None
22878 HONOEFZOD Yo SR 739,30020,3 QeRTRTO
a) nex b) dRes’
c) a) R b) HTEL ' d) GERRTR 3L,
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52. One nano is equal to m.

53.

54.

55.

a) 10%m b) 9710m
20T mga’me QLT 0T
a) 10 9m b) 910 m

a) Kudankulam nuclear power plant

c) Kaiga nuclear power plant

TOTET T,T, 0 9690 QT AT
a) BREFBOTF e :)ci‘) * '?;wd
C) e a0 Navicy wad

Father of “White Revolution” in India is
a) M.S. Swaminathan

c) Verghese Kurian

PRUST “I e 5,080 WTOTT

a) 20.0%°. WOTF*

C) [T RO

Photovoltaic energy is the conversion of
a) sunlight into chemical energy

b) physical energy into chemical

c) sunlight into electricity

d) chemical energy into physical energy
@aemed@f@womaf 33 Q0033

CS-544
c) 10710 m d) 99m
m 7 3=,
c) 10010 m d) 99m

is the first nuclear power plant in India.

b) Tarapur atomic power station
d) Madras atomic power station

b) SoTeFHo* wead T T QDb
d) =0m,%° e VT, IO

b) Norman Borlaug
d) None

b) ToR0FT® nectennt
d) cdnte se

into

R0LOT &N

TOTBF IO . #
a) RRODFS BB TamoE B3 odoen
b) z;i‘aéﬁ 3% TITOODIF JcIRA
C) TRODFST e W, BoIRA
d) TomRORT I8 ?,5336 B oden
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